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1	Decision/action requested
To accept pCR to solve Editor’s Note in section 9.1.3.1.
2	References
[1]	3GPP TS 33.501 Security Architecture and Procedures for 5G System (Release 15)
[2]	IETF draft-ietf-tls-tls13-23 The Transport Layer Security (TLS) Protocol Version 1.3 https://datatracker.ietf.org/doc/draft-ietf-tls-tls13/

3	Rationale
In TS 33.501[1] section 9.1.3.1, an editor’s note is : Service Based Interfaces use HTTP/2 which natively supports TLS 1.2. It is FFS if the use of TLS 1.3 should be mandated when using TLS and whether additional security measures (e.g Protecting JSON data using JOSE) are required.
In IETF, TLS 1.3[3] is still in progress. Its latest version is draft-ietf-tls-tls13-23. It is still as a working group draft, and hardly to be an RFC before Release 15 is frozen. So this editor’s note could be removed and not involve TLS 1.3 in Release 15.
4	Detailed proposal
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Editor's Note: Service Based Interfaces use HTTP/2 which natively supports TLS 1.2. It is FFS if the use of TLS 1.3 should be mandated when using TLS and whether additional security measures (e.g Protecting JSON data using JOSE) are required.
Editor's Note: This clause is to take into account the NF registration and authentication procedure.
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